recalcuwlus  Unit 7 Notes—Polar Graphy
oy X y A
r=a r = asinb r = acosb F=ab
Circle Circles not centered at the pole Spiral of Archimides
center at the pole a 1s the diameter a controls the width
radius=ag

Sine curves are symmetric to y-axis

cosine curves are symmetric to x-axis

(must be in radian mode)

Limagons are in the form » = g = bsin® (symmetric to y-axis) or ¥ = a = bcosO (symmetric to x - axis)
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a=b b<a<2b a>2b
Limac¢on with inner loop Cardioid Dimpled Limacon Convex Limagon
(heart shaped) (one side is flattened)
Rose curves are in the form » = a-sin(n0) or r = a-cos(né). The maximum diameter of a petal is controlled by a.
If n is even, the rose curve will have 2n petals. If # is 0dd, the rose curve will have n petals. Interesting patters
can be formed if  is a decimal and the curve is viewed with O starting at 0 and going out to very large numbers.
* A A 4
r = a-sin(20) 7= a-sin30 r = a-cos(40) r= a-sin(50)
Lemniscates look like infinity signs and are in the form 7% = a*sin(20) and 2 =a*cos(20)
[symmetric to the origin] [symmetric to the x-axis]
If the coefficient of 8 is a number other than 1 or 2, a deformed lemniscates will result.
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= a*sin(20) r* = a*-cos(20) = a?-cos(1.30)
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L6) = 3.5c08(20)
\i_l 0O r= 3cos(40)

SCveen RN ct\‘\(?

X X - ljm,[f\ \,)Wwa
~3 03 =27
I
-4 4 -6 G




